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Question Number : 1 Question Id : 2839364321 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
Puffballs belongs to the following class
Hp2rd) 18od édtas Todhad

Options :
Phycomycetes
- S
28393617281, & 25 DD
Ascomycetes
18393617282, % EIRTabinED
Basidiomycetes

38 - o =
28393617283, ¢ DA

Deuteromycetes

o =,
28393617284 % CEE3ODIED

Question Number : 2 Question Id : 2839364322 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Organisms of Monera having pseudomurein cell walls are producers
of biogas (Methane)

Reason (R) :  Archaebacteria present 1n the gut of ruminant amimals like cows.
bulTaloes produce Methane (Biogas)

D3350 (A) L DT ToAS 20 Arddur:os o 3o §08 sod
DOITITED (2D T) D réd 188 Faow

s%520 (R) D essyen, TEen erotd Sranadd sodigeds ed)eritod ¢odero

5 AT (2TTFTTER) o &b Tarow
The correct option among the following is
% 1800 90150 HOTSHO
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
18303617285, % (A) HOAM (R) HOTSD. (A) & (R) HOTd DSed

(A) and (R) are true, but (R) is not the correct explanation for (A)
18393617286, ¢ (A) DBASN (R) DTS, (A) § (R) DO DS 5°¢

(A) 1s true but (R) 1s false
28393617287, & (A) V20 5°Q (R) Sy

(A) 1s false but (R) is true
28393617288, # (A) €33 5°Q (R) Qz0

Question Number : 3 Question Id : 2839364323 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choosc the correct statements

I.  Like fossil plants Pongamia produce petrol due to the presence of hydrocarbons
II. Chiorella is a single cell protein
III. Branch of Botany deals with the study of different tissues and internal details
of plant organs 1s morphology
IV. zolla, Nostoc and Anabaena help 1n recycling of nutrients as Biofertilizers.

AOQDHA A EDEEIAD alal)) Tabaln

I 3RE8)8 EON 6:5) 0806 Ferereryoed Somad Ingy DT <&
&b e oI
II. 55 9% 5 8838
M. 387030 O S8 TN T2, dadd Ssaereren 8ok BnE), erme
2058 U7 SO
IV. 4% Sorgrer Hddy8abo F e aerfoodin @sda A5 d5denr

Saeta%h chesran



Options :
28393617289, # I, IV

28393617290, ¢ I 11, IV
28393617291, & 11, 1L

28393617292, & L 11T

Question Number : 4 Question Id : 2839364324 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct statements

In liverworts, mosses and ferns gametophytes are free living
Sporophyte in mosses are more elaborate than in liverworts

In Gymnosperms and Angiosperms gametophytes are independent
Pimus and Cyveas are dioecious

cOowp

O T LI o)ad)) SAkedd

A D3BSG en, Sroew 0dn DB & Soch Hodhel Dacren Hisdodon:
2o on

B. 935300 8§37, 3rR ey DO D2d &F 1D20DS Are &F

C. DS s Derew, e3¢5 Dereres’ HoBridescren 91650 oS

D. 200805 R8P JEDompicinen

Options :

A and C are correct
28393617203, % A 080N C SO

A and B are correct
28393617294, v A 0000 B S8

A, B and C are correct
28393617295, & A B <000 C S80S

A, B, C and D are correct
18393617296, % Ay B, C 08w D S80S

Question Number : 5 Question Id : 2839364325 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following is extracted from Laminaria

BoNre3¢3 e3xTOGH S0 HOWErOH2RINE
Options :
Algin
28303617207, % SIDD

Agar
28393617208, % D

lodine
28393617299, v BTV

Carrageen

=, M. A=
28393617300, % PR

Question Number : 6 Question Id : 2839364326 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Following has radially expanded cells with fibrous thickenings

B0 e Eeren srsardorr arh, Sodaing oo A0 G0
Options :

Tapetum

28303617301, % S3=2€2=1

Endothecium
28393617302, ¥ DOBBRCHO

Endothelinm
28393617303, % OSBOAHO

Pericycle
28393617304, % <0TIEND

Question Number : 7 Question Id : 2839364327 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Sporopollenin 15 one ot the most resistant organic material called

Intine

Reason (R) . Exine can withstand high (emperatures, strong acids, alkalies and
cannot be degraded by enzymes

D3 80 (A) © eadhzoed DOKY (resistant), Lo HrrdFhad TS &
2o VO OoLFrHd

s&e0 (R) B @SE el Geiiden, 2OToN @), TGO SENENe
DB OB T DhrdeIeIW

The correct option among the following 1s

&% 1800 00 35S HOTSO

Options :
(A) and (R) are true. (R) is the correct explanation for (A)
28393617305, % (A) <0805 (R) HBQDHI. (A) & (R) 0O DS

(A) and (R) are true, but (R) is not the correct explanation for (A)
18393617306, % (A) DOAW (R) DEDID, (A) 8 (R) SO 238 5°¢0

(A) is true but (R) is false
28393617307, % (A) D20 5 (R) Sa))

(A) 1s false but (R) is true
28393617308, ¢ (A) &) 5% (R) dzzo

Question Number : 8 Question Id : 2839364328 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct pair of plants in order showing the following featurcs
A. Medicinally important plant and a tendrillar climber with umsexual lowers

B. Spice yielding plant with cymose inflorescence, persistant calyx, unilocular ovary

SO & 1508 oS 7o S5 SO TwE) e HBosys0
A. DEDORE Haryen, Addeder & DH, Aumeisd T Jndy

B. 22¢ 35 Dervpdain, Y 5OE SE K HeewadD, D Derciined moca-dciHnain RS
2008 (550 At Bwsy
Options :
Ruscus, Capsicum
28393617300, % ORGR), 5780



Smilax, Solanum
28393617310, % 24&75), Perdo

Asparagus, Capsicum
28393617311, % BRYTIR), 5250

Smilax, Capsicum
28393617312, ¥ L4, S* 80

Question Number : 9 Question Id : 2839364329 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Bicollateral vascular bundles are found in
A LATIE )L TR Hoerew EORNSD

I. Roots of solanaceae members
FoOTD IE)e IoS

II. Stcms of solanaccac members
FoID 3080 somess

III. Leaves of solanaceae members
FoTD 3o HEFes

IV. Stems of liliaceae members
OHAEHD T o Tomerd
Options :
[, 11, III only
28393617313, # L 11, T &3

IT and IV only

28393617314, % 1L sDOAID TV 57(e835)

28393617316, # Lo 11, 1L, IV

Question Number : 10 Question Id : 2839364330 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Carpels and Stamens are in 1:2 ratio in the following family

Hexderen B0 Baoren 1:2 A8 ¢ B SoenooeS Goenod



Options :
Brassicaceae
FARAISTS
28393617317 % &

Solanaceae
28393617318, # FOJ

Fabaceae
28393617319, % @B

Liliaceae
28393617320, ¢ OO

Question Number : 11 Question Id : 2839364331 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify Amembraneous cell organelles

b e258emed EeTrorrerady HO0Y
Options :

Ribosome, Wucleolus

£ - n
18393617321 & OB 30, SOIOSPOI5W

Nucleolus, Lysosome

28393617307, % SOLIS0Fm, BRFRf w0

Peroxisome, Nucleolus

28393617323, % 08, S5 oFn

Ribosome, lysosome

F. T
28393617324, % DA, BRI

Question Number : 12 Question Id : 2839364332 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): lons and organic material concentration 1s higher 1n cytoplasm than
vacuole
Reason (R): Tonoplast facilitates the transport of 1ons and other materials against
concentration gradient into vacuole
DIB0 (A):  OCETD HOTIN DOLBCH HETe i 888 S He 53y
Xea5e5206 @B%0
s&eao (R): 8% o (tonoplast) enciirs el DO Qed Horgremad) ncheb
(DSeSOE) 35305 B35 B8 S8 STy DIFEONOH
The correct option among the following 1s
&8 1308 DDITOS HODSE
Options :

(A) and (R) are true. (R) is the correct explanation for (A)
128393617325, % (A) s08AK0 (R) HOQSD. (A) 8 (R) S8R D58ed

(A) and (R) are true, but (R) is not the correct explanation for (A)
18393617326, % (A) 000 (R) SO, (A) § (R) SO DS 5°¢0

(A) is true but (R) is false
28393617327, & (A) Q20 5°Q (R) &)

(A) is false but (R) is true
28393617328, ¢ (A) &) 5% (R) dzzo

Question Number : 13 Question Id : 2839364333 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the wrong statements

A.  Polymers of polysaccharides, fats and proteins are synthesized from monomers
by 1onic bonding

Molecules with polarheads and hydrophobic tails are present in cell membrane
Left end of protein chain is N-terminal end

Right and left handed helices are observed in protein

caw

53215600006 & s 5 B80Sy

A. TOTEDS O, 159560 0G5 1SS 00 Irhd © eciral nomred
H0daa0ti2at.

B. %06 :35065 380 doe fed @engen SHO0 2e DELE ey eoeran

C. |TFE3S Fendd G £ N-036 &3

D. 15753 & AT, QBB D8 YETFOS BeDROISN)

Options :



28393617329, ¥ A & B
28393617330, 8 B & C
28393617331, 8 C & Dr

28393617332, ¢ A & Dr

Question Number : 14 Question Id : 2839364334 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) :  Syncytium is the result of karyokinesis not followed by
cytokinesis

Reason (R) - In plant cells, middle lamella formation starts from centre and
grows outwards of the cell and leads to cell wall formation

DARyeso (A) ;. Sodd¥ DFamrdosddo Sy D S8 Syt SO
25050158 DS DY)0E0d

520 (R) - So8lerod HdsHerdE Doyt $00 ol erfod 813G

DenHO D% oMer oo L6451 DT 0% SO
The correct option among the [ollowing is
& 1806 20 5ereY HOTHSA
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
18393617333, # (A) 08 (R) S8R, (A) 8§ (R) SO Daddea

(A) and (R) are true, but (R) is not the correct explanation for (A)
12303617334, ¢ (A) 080 (R) SO, (A) 8 (R) SO Deddea 5°¢0

(A) is true but (R) is false
28393617335, % (A) Q20 520 (R) &)

(A) is false but (R) is true
28393617336, % (A) 23] 5 (R) Q20

Question Number : 15 Question Id : 2839364335 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Cell that do not divide further due to the following changes in cell cycle

Eeo 9E0S |80 S0 SO 00 STt D25sE MBSD.
Options :



Exit G and enter S phase of cell cycle
28393617337, & SE€ SEoS’ Gi o0& JH; 0D S &FS (HIR0DS

Exit Go and enter G phase of cell cycle
18393617338, & 589 (8065 Go 0B Sl G B34S |HIR0DS

Exit G and enter Go phase of cell cycle
18393617330, ¢ SE9 D505 G 0& Sooft Gy &3S (H3F0DS

Exit interphase and enter M phase
28393617340, % ©OSEF L0A SO M SIS’ (H330DS

Question Number : 16 Question Id : 2839364336 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the meiotic stage in which the homologous chromosomes separate while

the sister chromatids remain associated at their centromeres
FAE T30 O DD © 358 o) &3 D638 Daare EFRrTInen

DADEDH §ODESD D252 B3 HQOYSD
Options :

Metaphase — 1
28393617341, % 0FRCF — 1

Metaphase — 11
28393617342, & SNCIHEF — 11

Anaphase — [
28393617343, ¢ TOCHE — |

Anaphase — Il
28393617344, % wIOACE — I

Question Number : 17 Question Id : 2839364337 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the monocot root characters
DESED: D& of ererck HBOHSW

I. Polyarch condition
250G O thE P
II. Large pith

8 B¢

III. Presence of bundle sheath
aN0Zo) Scwlhy GO

IV. Scattered vascular bundles
S[TIES TS Hoeren

Options :

I and 111 only

28393617345, % 1 0008 IIT S5 @%

I and II only

I o8t IT sdrhad
28393617346, ¥

IT and III only

28393617347, % 1L s005N III S

IV only

28303617348, % 1V AUE8aD

Question Number : 18 Question Id : 2839364338 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the plants in the order of Ephemeral, Succulent and Non - succulent type
@057, $5235065 DO B3OS0 57 BELerd SEOM 800G
Options :
Tribulus, Solanum, Casuarina
28393617349, % 3OV, FOOD, 7278

Casuarina, Iribulus, Opuntia
28393617350, % SZB, (E3n0D, 2,005

Aloe, Casuarina, Tribulus
28393617351, % O, T2 B, (SR



Tribulus, Aloe, Casuarina
28393617352, ¢ €300, ©F, 528

Question Number : 19 Question Id : 2839364339 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements

A. Porins allow the entry of small proteins present in the membrane of mitochondria,
chloroplast and bacteria

B. When a living cell is kept in hypertonic solution, water potential is equal to solute
potential

C. Carrier proteins will allow entry of all substances across the membrane, whereas
pumps transport large molecules 1n a passive method

D. Bulk flow occurs by diffusion

B T 5L odadd)) Fadds

A, Do so|Gah, FEFTD 00t 2r§oaiT 505065 ol FES) Dy 1935
EHEDSY) (DedF ) ENDSDEATON.

B. 2.5 32%3%00) @08 MAHSHO (9606 &GOSR Q3350 ,
(DS IEIINSE DITFSI0

C. 5% 185633 e 5550 @08Er ®R)) DTS (NHTW), ©0ST 0w, 5T
HOD €0 DO NGO DS DB Sared Tarrow

D. roaso 2080 oo adibhehod

Options :

28393617353 ¢ A, B

28393617354, & C, D
28393617355, & A, DX

28393617356, # B, C

Question Number : 20 Question Id : 2839364340 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Maich the following
List-I (Element)
A. Iron
B. Manganese
C. Magnesium
D. Molybdenum

IBOE 5P 23850 BTNDS/D
He3E 1 (Sorer¥Sn)
A @i (21650)

B. Srofddn

C. Dfiyaadho

D. 3r®d30
Options :
23393617357 8 A-1I, B-1V, C-I,
28393617358, ® A—-V, B-II, C-],
28393617359 ¢ A—=1V, B-V, C-],
28393617360 8 A—1I,  B-1III, C-I,

List-II (Activator of)

I. RUBISCO

1I. Cytochrome *C’ oxidase
III. Nitrogenase

IV. Calalase

V. IAA oxidase

HSE 11 (B8 )
L. SO,
II. DE|ED ‘C” 8 TS
M. S 2as
IV. S8
V. IAA &8 \32S

D-1I
D — 111
D —111
D-V

Question Number : 21 Question Id : 2839364341 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The mineral elements required for carbohydrate translocation, photolysis of water and

for chlorophyll synthesis are respectively
TGS © FTOSS0H, TOS 2O TN DO JSTOS H0FNOHH
23380008 $A22 DTOTeN ST
Options :
Boron, Manganese, Zinc
28393617361, # D O°S, STV, 208

Boron, Chlorine, Iron

28393617362, @ B T TOS, 0ES



Molybdenum, Copper, Magnesium

28393617363 % SrOPd0, 5708 iy xadho

Molybdenum, Copper, Iron
18193617364, &8 TS0, 06, D8S

Question Number : 22 Question Id : 2839364342 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

List — 1 List —1II List —III
A. Photo autotrophs 1. Oxidation of Inorganic substances P. Bacillus
B. Photo heterotrophs ii. Organic detritus Q. Beggiota
C. Chemo autotrophs iii. Organic COz R. Chromatium
D. Saprophytes iv. Atmospheric CO: S. Rhodospirillum

15od TAR 25D

He3E 1 568 11 HE3E — 111
A. 508 HiohoSFas en i. AboOOH Hrdie el g P, QR
B. o0& HSFaEen il. RolBAH TE3eR Q. arfiairer
C. S30Hs Ssohoserey il 2oldaH COs R. [EHho%o
D. Jradse SPEen iv. F&s8e CO: S. B& 0N
Options :
18393617365 ¥+ A—iv— R, B-iii-S, C-i-Q, D-ii- P
18393617366 8 A—iv—-R, B-i-Q, C-iii—-8, D-ii-P
28393617367, 8 A— iv=P, B-i-§, C-ii-Q, D-ii-R
28393617363, # A—iv—=S8, B-iii—-P, C-ii-R, D-i-Q

Question Number : 23 Question Id : 2839364343 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Kranz anatomy is a characteristic feature of C4 plants
Reason (R) : Photorespiration is absent in C4 plants

250 (A) @ 15025 @odyorigo Srddo Cs DnEe of 25w
s*&ea0 (R) : Cs S0EoS 5o 755180H &0k

The correct option among the following is
&1 1800 99 )5S HOTSO
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
18393617369, & (A) D80 (R) DETDID. (A) § (R) SBRHS Ded8€

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393617370, ¢ (A) DOCW (R) QODS, (A) § (R) SO DHBe 5°¢

(A) is true but (R) is false
28393617371, & (A) V20 5°Q (R) &)

(A) is false but (R) is true
18393617372, % (A) &3 5% (R) Q220

Question Number : 24 Question Id : 2839364344 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

List — I (Cycle/fixation name) List — II (Product formed)
A) First stable product of TCA cycle i) Ammonia
B) First stable product of Cs cycle ii) 3 PGA
C) First stable product of C4 cycle i) OAA
D) Product of nitrogen fixation iv) Citric acid
BB 7R 238550t
DHEE — 1 (S0TDHO0 / FHS D) HEE — I (S0 Hgo)

A) TCA Schos Inesed G Hrgasw i) RV

B) C3 00908 3nced RS Horgam ii) 3 PGA

C) (1300906 IJncded PE Hardasn iii) OAA

D) Se$a3 rHSeS G330 iv) 21¢35 esso
Options :

28393617373, % A-il, B-il, C-i, D-v



128393617374, & A-iii, B-ii, C-iv, D-i
28393617375, * A-1v, B-11, C-ii1, D-i

28393617376, % A-i, B-iv, C-ii, D-iii

Question Number : 25 Question Id : 2839364345 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following:
List — I
(Compound oxidised)
A. Succinic acid
B. @ -keto glutaric acid
C. Iso citric acid
D. Pyruvic acid

Bo& A 235Kt
HEIE — [(e38 188560 ToOIHE0o )

A. 08305 a0
B. @a-8&& 5erss essvo
C. (¢35 ead0
D. 2&8raS esano
Options :

28393617377, & A-L B-III, C-IV, D-1I
18393617378, & A-l, B-II, C-III, D-1V
128393617379 % A-IIL, B-IIL, C-I, D-IV

18393617380 ¢ A-1V, B-11, C-III, D-1

List — I

(Compound formed)

I.
1.
L.
IV.

I1.
111
IV.

Acetyl COA
Succinyl COA
Oxalosuccinic acid
Fumaric acid

DEE — (S IAS dgo )
©2®S COA
58,35 COA
@571 DEIE eeAw
5o 08 esoDedn

Question Number : 26 Question Id : 2839364346 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



Identify correct statements

(A) 2, 4-Dused to kill dicotyledonous weeds

(B) Auxins promote flowering in Pine apple

(C) Ethyle reduces the respiration rate during ripening of fruits
(D) ABA - Initiate flowering in mango

BOD g eercD MB0N

(A) B35%Dereds Send) IELeOD HoDERE 2, 4-D O aHBFATE
(B) e S HAEH9D @858 e Dot
(C) Herer HEgés HnAHOES HOS 225 | 8aH Tensdy éfochah
(D) ABA — 372086 S8 180 [HB0thay
Options :
A and B are correct
28393617381, v A NOCAN B SO

B and C are correct
28393617382, # B e08a € S6QDSD

C and D are correct
28393617383, % € 080 D 26QDHS)

D only correct
28393617384, % D STE3D OIS

Question Number : 27 Question Id : 2839364347 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study the following lists

List—1I List—1II
A)  Conjugation I) Lederberg and Tatum
B)  Transformation M) Zinder and T .ederberg
C) Transduction III) Koch
D) Five kingdom classification IV) Frederick Grittith
V) Whittaker

The correct match is

B0d erdErerch eddicdo Toindn

eride —1 erdde —11
A)  HocswEIS 1) BE0 205 S0 P65
B) 255 90588 II) 2055 SH005 BESE 20
C) 255 S5 m) &5
D) oo HO%%a TV) (2&%OE PHé
V) aersb
1ﬁ5@)1ﬁ 2%

Options :
128393617385, & A-L B-1I1, C-1IV, D-V

18393617386, ¢ A-1, B-1V, C-II, D-V
28393617387, & A-IIL, B-1, C-II, D-V

28393617388, & A-L, B-III, C-V, D-II

Question Number : 28 Question Id : 2839364348 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Viruses cannot multiply unless they invade a specific host cell and
instruct its genetic and metabolic machinery to make and release
daughter or progeny viruses

Reason (R) : Viruses are obligate intracellular parasites

AR0 (A) 1 IR en @6 Dow Fard)) @ EIocd0d S5 @ HYQ ToAEY) SH0ain
a8 =g, 235 | Bair Airo| ST D0 (HEBER) DB AP0
sde00 (R) @ 380 en edEed) Eegroedy) DR 22ajen

The correct option among the following is
&1 1806 DD ITOS DOADSE

Options :



(A) and (R) are true. (R) is the correct explanation for (A)
28393617389, ¢ (A) S0BAW (R) SOTAD. (A) § (R) QORS DHSE

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393617390, % (A) 08K (R) HOTSD, (A) § (R) DO DB 57

(A) is true but (R) is false
28393617391, % (A) V230 5 (R) )

(A) is false but (R) is true
28393617392, % (A) $9) R (R) Q20

Question Number : 29 Question Id : 2839364349 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fi generation resembles both the parents in this phenomenon

& 59A 5000065 Bese3esS0 (Fi) Both 355006 iy SO
Options :

Incomplete dominance
28303617303, % SVOI'Q QS 50

Co-dominance
W W o,
28393617394, ¢ QTTrYe S0

Pleotrophy
28303617305, % ROSTE'D

Complete dominance
28393617396, % VO0YQ 2T 50

Question Number : 30 Question Id : 2839364350 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mutations in Oenothera lamarckiana plants was first identified by

¢55 )05STOR SISO 0 A oSS IS HB0DIE
Options :

Hugo de Vries
28393617397, v TOSAADR



Morgan
28303617308, & TR

Suttom
28393617309, & G

Boveri
28393617400, % &8

Question Number : 31 Question Id : 2839364351 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement

1) Alleles are unable to blend with other

II) Alleles arc units of inheritance and slightly ditter from the same genes

IIT) Mendel laws did not provide any proof for the existence of genes

I'V) Genes are independent pairs segregate independent of each other.

QOT TEW LD el B0

I) cinigageryen D@0 S0l

IT) a0z DEer 0 HoIEe (DS DB &f sdyes FHT 3o
III) 2300509 88 Bwodhd SriEren erot] eoom) rdesy

TV) zdngayen H1e50(¢5 zeben, & 1800 2.5rS%e3d Hydh% o Todhd

Options :
28393617401, ¢ L 1L, IV

28393617402, % 1 1L, TIT
28393617403, & L 1L, IV

28393617404, % 11, 11, 1V

Question Number : 32 Question Id : 2839364352 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
Identify the incorrect combination

A85°) 23680 HO0YW
Options :



RNA polymerase I - rRNA
28393617405, % RNA 35BS I - rRNA

RNA polymerase II - hn RNA
28393617406, 8 RNA ar&0es II - hn RNA

RNA polymerase Il - m RNA
18393617407, ¥ RNA 008 11 - m RNA

DNA polymerase — DNA
28393617408, % DNA rd005 — DNA

Question Number : 33 Question Id : 2839364353 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
Arrange the following in ascending order

(I) Number of stop codons
(II) Number of sense codons
(ITI) Number of types of amino acids
(TV) Number of types of Nucleosides
B0 DR effirm (EasineS @ sm
(I) Renyde Fors e Howe
(II) @di06 &ara © HoW?
() &S eare S5 Hows

(IV) Srs8crnd o dsve Howms
Options :
28393617409, % I, IV, 1, I

28393617410, % L, 11, IV, I1E
28393617411, ® 1L 1L 1, IV

28393617412 ¢ Ly IV, 111, 1T

Question Number : 34 Question Id : 2839364354 Question Type : MCQ Option Shuffling : Yes Display Question
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Match the genes of Lac operon with their respective products
o8 L0000 230029000 are3 TBE), DOoDOAS &éd 1ERNEE 235N

List—1 List—1II
He3E -1 He3E —11
A) 1gene I) P - galactosidase
i 208y B—rofdEn
B) zgene II) Permease
Z 230059 28R
C) agene III) Repressor
a 2agsy 120D
D) vygene IV) Transacetylase
V 23630809 187D DTSR

Options :

A-TV, B-III, C-I1, D-T
28393617413, %

23303617414, % AL B-IL C-IV, D-III

28393617415, ¥ A-III, B-1, C-IV, D-II

. A-II, B-III, C-L, D-IV
28393617416. #

Question Number : 35 Question Id : 2839364355 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study the following list

List—1I List—11
A)  Exon [) Fragment of DNA coding for polypeptide
B)  Intron IT) Non-coding sequence of DNA
C) Cistron IIT) Coding sequence of DNA

D)  Sigma factor IV) Initiator of transcription in prokaryotes
V) Termination of transcription
Correct match 1s

1808 HEIED 98550550 TOSwedn
S35 -1 5638 — 11
A) IS ) IODRE FEOA & 2500 DNA S8,
B) as1&@S [I) DNA &% SG&0h [$e0e0
C) DTS [II) DNA §&0f ($s0em
D) 2 ssio IV) ZBol&% 556 2o eadhSpdodh
050 280D
V) 080080 Snfo)
DB 23¢b
Options :

28393617417, A-111, B-11, C-I, D-IV
28393617418, & A-IIL, B-II, C-V, D-IV
128393617419 % A-IIL B-I, C-II, D-1V

28393617420, % A-IIL, B-11, C-1V, D-1

Question Number : 36 Question Id : 2839364356 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is required to precipitate purified DNA from solution

&2 [B0B TS [T5090 0 HO TAH22BS DNA & e935E Homr Sainersy
BIDEDSA
Options :
Chilled calcium chloride
28303617421, % DSRVODS Qabo §0E

Chilled ethanol
18393617422, ¢ DL 28DS GO



Chitinase

28393617423, % @'ﬁﬁg

Ethidium bromide
28393617424, % VORONO B DE

Question Number : 37 Question Id : 2839364357 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In genetic engineering antibiotics are used as

23638 20220000 D0 & eoednTreIE) S ReT SHTEAATED

Options :

For keeping cultures free of infection

[ u, - [T “,
18393617405, & DQN0 AT g Garédor eromicho §No

To select healthy vectors
28303617426, % SOHSEEDES TFTOD ) Federsy

As selectable markers
28393617427, ¥ Py Tt ﬁcﬁjéﬁé :}j“'ljja,ﬁ EVT Somrfiocihe o

As sequence to start replication
28393617428, & DDBS E0:50 FrE0DoHOK

Question Number : 38 Question Id : 2839364358 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The technique used to detect the antibodies synthesised by host against the pathogen

T30 2558 S5BBE0M DOTNOBDAD 1D 855 & HB0T FoBBE HAB A
Options :
Polymerase Chain Reaction

= o £ = =
28393617420, & DONTR BS OATrE.S

ELISA
28393617430, ¥ R

DNA finger printing
28393617431, % DNA SOSw(c5ed



RNA interference
28393617432, 8 RNA S5838680

Question Number : 39 Question Id : 2839364359 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select correct statements
I) IRg 1s a sermdwarl vanety ol rice developed i India
IT) Hybrid sugarcane show high sugar and high vield
III) Hybrid millets are resistant to water stress
IV) Sonalika 1s a high yiclding and discasc resistant hybrid varicty
HOTS T 580500 D) THod
I) 78 ¥ 7a0cd 85 IRg 30 850 ar8eBiod Srarodordd

II) Q5005 TELE oS 5000 B8R TS TES Srodedd
III) 37 DE DXcTesen ed IOGR SEPRTT Ysten
IV) @O OK2AD, o0 DEHE 482 D05 2 DA S0 Fard¥

Options :
28393617433, # L 1L, 1L

28393617434, +* 11, 111, IV
28393617435, & L HL IV

28393617436, ® L 1L IV

Question Number : 40 Question Id : 2839364360 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is produced during microbial or biological treatment of
sewage in strict anaerobic condition.

A7 2 1Banen Bor £ D020 S5O 7500 ED 1S TS @905 DSBS’ SnHdE
HO S0 BMS T3S Greh e sTD
Options :
Primary Sludge
28393617437, % (PO $0 HTRO



Biogas
B,
28393617438, ¢ LOITTT§ed

Activated Sludge
28393617430, % SIS EIE (HHBS) S Jorgo

Primary effluent
28393617440, % PRDE (A8 S5Q0

Zoology

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

28393698
2

Online
Mandatory
40

40

40

Yes

0

1
28393698
Yes

null
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Which taxonomie hierarchy contains organisms belonging to the same class but not

to the same family?

D 50856 @0osNS’ 2.8 DerrAd TohS £Hen Gotron. SR 2.8 Henoerdd

DOAS 2Bayen &r0ochay?
Options :
Genus

28393617441, % |2Ted

Order

28393617442, ¢ SN0

Family
28393617443, % 5000200



Population

28393617444, % Be3°EF"

Question Number : 42 Question Id : 2839364362 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find out the wrongly matched pair

&% 1808 ¢3S’ HOTDS 26 A
Options :
Tiger-Panthera tigris

28393617445, % DO - FOHT” PAD

Red panda- Ailurus ochraceus

28393617446, & I8 TOE -IEVFOD @ SVADD

Pigmy hog- Grus leucogeranus
18393617447, ¢ VI DO - (1 O eTrEBTWR

The black buck-Antelope cervicapra
28393617448, % SO B0%- AUrodISTD DO, 557

Question Number : 43 Question Id : 2839364363 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The long non motile cilia like processes present in the epididymis are

IDATD F YT A0 Sored 3O erT GOTE AOTIETeN
Options :
Stereocilia

& 5
18393617449, ¢ MOTBFROATED

Microvilli
28393617450, % TS IFASED

Brush border cilia

28393617451 % H00N®OTH® nOATED



Villi

28393617452, % TOTeXETED

Question Number : 44 Question Id : 2839364364 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1Bo& T7¢3Q 3¢5 58504,
List-I List-II
S ER-] SGN-11
A. Chondrocytes I. Liver
5Ol Y SSONO
B. Dendrites II. Muscle
To|BOe goedo
C. Sarcolemma I1I. Cartilage
) B2 DYCVETY
D. Haversian canal IV. Nerve cells
THBADS Hooos TG EeTren
V. Bone
e
Options :

18393617453, 8 A—-1, B=II, C-1V, D-V
13393617454 ¢ A—1II, B—1V, C-1II, D-V
28393617455, ® A—1L, B-1V, C-L, D-V

28393617456, ® A—1I, B—1IV, C-V, D-1

Question Number : 45 Question Id : 2839364365 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which cells of nervous system are involved in the formation of blood brain

barrier?

550 - DA @I TR DEIGBS0S” ST LeTren
Options :



Schwann cells

28393617457, % LS SEFeD

Astrocytes

28393617458, v S DY

Ependymal cells

18393617459 & S 0B Eeren
Microglia

28393617460, % DASACT

Question Number : 46 Question Id : 2839364366 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
All protostomes show

(B NE S0 P 1508 DAFT R (89858 ) 0w
Options :
Holoblastic, spiral, indeterminate cleavage

28393617461, & SI°RB0BS, S8H©, AT JAFS0 (DS o0

Holoblastic, radial, determinate cleavage

18393617462, & I2028, SAR, APOed IAFS0 (DB )" ow

Holoblastic, spiral, determinate cleavage

18303617463, v 223086, HBI©, ATBS JOFJ0 (DB ow

Holoblastic, radial, indeterminate cleavage
18393617464, 8 ST 302365, SO, AT B VTS0 (HHOarom

Question Number : 47 Question Id : 2839364367 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In earthworm nerve ring is present

TFSTSnS & SeaHo
Options :



around the oesophagus in the 3" and 4" segments
18393617465, & GTFETE Y 35, 48 podEre s’ Goth.

around the pharynx in the 3™ and 4" segments
58393617466, v (10 THEP™ 365, 465 PoAT S’ GOD.

around the gizzard in the 8" segment
28393617467, % SOSBBBS0 THEY 8 OGSO’ GO,

around the pharynx in the 5" and 6™ segments
28303617468, % IO TOET 585, 65 pORETOS’ 0.

Question Number : 48 Question Id : 2839364368 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The larval form of gastropods is

S Bhos Bdoso
Options :
Veliger

28393617469, ¢ 2236
Bipinnaria

2
28393617470, % B 01 00%

Parenchymula

==
28393617471, % 2O S0©

Auricularia

28393617472, % ©0805BOAD

Question Number : 49 Question Id : 2839364369 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which among the following is not an amphibian character

&1 1808 FES’ GHAOBo® ©E R0 A
Options :



First tetrapods
28393617473, % SVEDNCE] L5 ycoen

Monocondylic skull
28393617474, v 2 S0SANES (B

Three chambered heart
28393617475, & VIR D Fryddao

Ureotelic animals
28393617476, & OO BOS 225hen

Question Number : 50 Question Id : 2839364370 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following is commonly called flving fox

&2 1800 TSS INBIE, @ AAJ woerd
Options :
Macropus

[T
28393617477, % VLSO

Dracor
a5
28393617478, & (

Exocoetus

5, e
28393617479, % 2EVVOD

Pteropus

28393617480, ¢ IR

Question Number : 51 Question Id : 2839364371 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
Reservoir host for Trypanosoma gambiense.

(E35e5 L rpoalad) es30hH e9add
Options :



Monkey
28393617481, & S'ad

Rabbit
28393617482, % HooDe

African antelope

18393617483, ¢ SIDES Joe3S’D

Female Culex mosquito
28393617484, & @ SUTE) B

Question Number : 52 Question Id : 2839364372 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
The diploid stage in the life cycle of Plasmodium vivax is

FIABAD0 T78) EDes HF0S B 50D BE &5
Options :
Sporozoite

18303617485, % 8ol

Cryptozoite

28393617486, % \5&er00E

Metacryptozoite
28393617487, % & (5200

Qokinete

28393617488, ¢ 8¢S

Question Number : 53 Question Id : 2839364373 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
In human beings Lymphadentis is caused due to infection of

SrdHAS OoFToE3D A HOoEHe IO SenthHeod
Options :
Common round worm

28393617489, # oOE P20



Hooke worm

28393617490, & SO8 YBH

Filarial worm

18393617491, v ROO0NS (F) Yot

Tape worm

28393617492, % DB YD

Question Number : 54 Question Id : 2839364374 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Hashish, Charas and Ganja are

JFaD), V8, o R
Options :
Cannabinoids

18393617493 ¢ S0 DT 0N

Coca alkaloids

28303617494, % S5 ©@©3er00B)

Barbiturates

28393617495, % &"0)ENTVEB)

Opioids
2
28393617496, & R IASTONE,)

Question Number : 55 Question Id : 2839364375 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
Unit of land containing different ecosystems surrounded by natural boundaries is called

DA BB Sgdmen EOR &od DT HOTDOS 3580 AS 27D [DSTET)

Bod Dorr ety
Options :
Biome

28393617497, ¥ 23e00c@0



Landscape

18393617498, ¢ SO (DD

Ecosphere

28393617499, % &85 Ao

Ecosystem

28393617500, & STDOED S5

Question Number : 56 Question Id : 2839364376 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
Find out the incorrect pair/pairs
RO 23¢HeN 570

A. Cave dwelling Amphibian - Protopterus
0TS DSVOT SBONBB0 - (FEr DOD

B. Nocturnal amimal - Cockroach
QTS B0t - HC0E
L Cyclomorphosis - Daphnia

|10 ErdRBod - @) ale
D. Anadromous - Anguilla bengalensis

QT TFDN - @OA ST ZTOTrS) )™
Options :
28393617501, % A, B and Dr

28393617502, & A and C
28393617503, v A and Dr

28393617504, % Only A

Question Number : 57 Question Id : 2839364377 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following regarding Monarch butterfly

A. The Monarch butterfly 1s highly distasteful to its predator because of a
special chemical present in its body.

B. The butterfly acquires the chemical during its caterpillar stage by feeding
on a poisonous insect.

S0T8), DEEE Dend MHBOD BOd T N8I,

A. o), DEFE Dend Taro 108 SRS SarcHRE Hordo SOR
&GOGB0 S05 DEHE 58 AESOr SOSM

B. & HeFEdend 80255 S35 2.5 DASEES 650 et Som Sinsdo
50" & Saradd HITTR) NeTinod.

The correct option among the following is

8112800 DO TOS HDOTDEO

Options :
Both A and B are true

28393617505, # A 08050 B Bodsr waso

A 1s false B 1s true
28393617506. ¥ A 0230 5°¢0 B Q&0

A 1s true B 1s false
28393617507, ¥ A 230 B Q230 52¢0

Both A and B are false
28393617508, # A D8G50 B Bochy A0 570

Question Number : 58 Question Id : 2839364378 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List — 1
A. Mutualism I,
B. Commensalism 11

C. Amensalism I11.

D. Competition V.

1508 a3 23¢5:H80 a0
NIV |
A. oS ;T doH dTdsso L

B. H3r82eEe 50 II.

C. dr)O23e0 1.
D. &%¢3 e5¢8 50 IV.

V.
Options :

List - 11

Both the species lose

One species is harmed, the other is unaffected
One species is benefitted the other is neither
benefitted nor harmed

Both species are benefitted

One is benefitted and the other is harmed.

SB- 11
olola ME-INTSVENTSFv (oW
2.8 2 SHFS$08, BoBS °dD deroes
|20 GO
2.8 252 ©3) o0, BOtSA edf DB,
SHBEE
Boch #yen ©d) FocveEron
2,8 229 e HEDA0D, HTEES Sadeod

28393617509, 8 A—IV,B-V, C-I,D -1

28393617510, ¢ A= IV, B-IILC -1, D -1

13393617511, 8 A—-1HILB-1IV,C-V,D-1I

23393617512 8 A=LB-ILC -1, D-1V

Question Number : 59 Question Id : 2839364379 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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The dental formula of an 18 year old man
18 D05€5 070 HANK e SrSIAS’ B0 D500

Options :
28393617513, % 2123/2123

28393617514, v 2122/2122Z
28393617515, % 2102/210Z

28393617516, % 2023/2023
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Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements about HCI of gastric juice 1s incorrect.

& 1808 73S 288 82085 HCl HH0D 56 2 evoio.
Options :
HC] klls the microorganisms ingested along with food.

28393617517, ® e B0 grady vd g8ayess HCL SSosyenod

HCl 1s secreted by peptic cells of gastric glands

18393617518, ¥ 208 flodhes TR a8 Erer od HCL DO 2dhsd).

HC] provides the acidic pH which is optimum for the action of pepsin

18393617510, & SIS IATANEAE eSDEP) eal) SrGzr) HCI SendZained

The proenzymes pepsinogen and prorennin on exposure to HCI are converted
to active enzymes.

18393617520, % EFDORI B D)2, 190)S HCL H5:0F 06F Sebadzaiosho ensyaran
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Inhalation of iron particles causes

2050 BENHOD DGO S DT O
Options :

Pneumoconiosis
£,
28393617521 ¢ T EATE D

Pneumonia

28303617522, % CNFRFQCD

Emphysema

= 5
28393617523, & DOV



Black lung disease.

28393617524, % D) GFAOBS 5O
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Which among the following statements is not correct about angina pectoris.

&:1808 73S’ so2T VSOV HBOD H6 ) woFo
Options :
It is caused by narrowing of blood vessels.

28393617525, # 2O OET T e Q)T @65 §G0 SO DOLDOThHID

It is a warning signal of deprivation of blood to the heart muscles
18393617526, & BB HOT 0BT 051 $50 DBDT” S$HOSA SOANB R (DSTE LS

Necrosis of cardiac tissue occurs locally
18393617527, ¢ (DOT 8€327@0 Y RSOIT DGeI0TICt0 2D 0d.

It occurs in men and women at any age.

18393617528, & 2O (R NS’ SAHXNS HA BHOGE® IHBF® HOLBAOTH
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Kidneys are located on either side of vertebral column between the

PSS D0 EN T3 085 BT yer
Options :

Last lumbar and third sacral vertebrae
18393617520, & ©90 §¢3 8300, 35 |BE §FE0 s S’ Goerow.

Last thoracic and third lumbar vertebrae.

18393617530, ¢ S0 €582 EBBEO, 35 §e3 EFEE0 0eds S Goerow.

Last thoracic and second lumbar vertebrae
18393617531, & D0 &d: EE0, 25 §¢3 EF0E0 DS S GoLTan.



Last sacral and third caudal vertebrae

18393617532, & WO (B8 E3B80, 35 HTd) F30Z0 s &S’ Goerow.
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In nephron the maintenance of acid and ionic balance is due to

S980 1DX700S" 353 - T8 DS Ko )T DG S0

Options :
Ultrafiltration

28393617533, ® P& OO0

Selective reabsorption.

28393617534, % OETHS Yt A0

Tubular secretion

18393617535, ¢ @S (730

Facultative reabsorption

18393617536, & DSO)E Dz FAe0

Question Number : 65 Question Id : 2839364385 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the mixed cranial nerves

& 1808 73S WFd Eare Trehed Hdotod
Options :
28393617537, ¢ ¥, VIL IX, X

28393617538, & 1, 11, VIIE

28393617539 % 1, IV, XI, XII

28393617540, & L 11, 1L, IV

Question Number : 66 Question Id : 2839364386 Question Type : MCQ Option Shuffling : Yes Display Question
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Match the following

1808 T3 3¢ DB
List — | List — 11
e - | e — 11
A. Sphenoid bone. I. Strongest of all the facial bones
R)S8ano. S0P DSNED @) E3S’ BT DSnEen
B. Zygomatic bones. II. Smallest bones of the face
2 Fore35 ddw¥en 300 23750 € Be) 98 D) D0
C. Lacrimal bones. I1I. Key stone bone of the cranium
oD e, Ere0 & SRR DSnde
D. Mandibles. IV. Triangular bone of the face
STeden. 1325023 5°8 30 W
V. Cheek bones
TOJOE SO AW,) Dedngen
Options :

28393617541, 8 A—-LLB-1,C-IV,D-V
28393617542, A—MILB-=V,C—-I, D -1
23393617543 8 A—IL,B-1IV,C-I,D -1

18393617544, 8 A—IV,B-IIILC-I,D-V
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Which of these hormone play a major role in regulating circadian rhythms

%808 IS S OB A0HS ©ohHO& (S DOTE
Options :

Growth hormone
28393617545, & ODHAO TS

Epinephrine
28393617546, % DOV

Melatonin
28393617547, ¥ DOE'AS



Thyroxine
28393617548, 8 BO°SI™

Question Number : 68 Question Id : 2839364388 Question Type : MCQ Option Shuffling : Yes Display Question
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Asscrtion (A): Diabetes mellitus 1s symptomuzed by exerction of glucose
through urine and formation of ketone bodies.
Reason(R): Anti-diuretic hormone is secreted by the posterior lobe of the
pituitary gland.
D360 (A): shesain o gor Hrefs &85 0 shodin 8675 Tinken
D& 3550 R S5TBEH derd Tk, ofaren
55220 ( R) : Hearserd H8 020D dirotd Bohrdess o588 O 19D0thd.

‘The correct option among the following 13
511508 00 1570 HOTSE
Options :

A and R are true. R is the correct explanation of A
18393617549, % A 000050 R Both SO, A 8 R SOTS Dd8ea

A and R are true, but R is not the correct explanation of A
18393617550, ¢ A DB R 8otk HOFNS, SR A § R DO DddBead 57

A 1s true but R is false
18393617551, % A QOTIO R HOTDSE 5°¢%

Both A and R are false.
12393617552, % A DOASD R Bodar SO 5%
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Correct Marks : 1 Wrong Marks : 0
The antiviral proteins produced by virus infected cells and are involved in

protecting the neighbouring cells from the viruses of infected cells are
FEHS &) FE STrecd 88 oNENE IR & HoEe TodS B

Segren DGO T 885 0iroedS S |98¢8sen
Options :
Complement proteins

28303617553, % 0J S8 |3



Interleukins

28303617554, % DOLOET ISR
Cytokines

28393617555, % EES&‘E—S‘J

Interterons

28393617556, v 2OLODTS)

Question Number : 70 Question Id : 2839364390 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
In humans, implantation begins on which day after fertilization.

SPSHRES’ HOBESED 200 Sared & Fered DO (D NS
(B0

Options :
7" day
28393617557 & 7 & Bex~

41h dﬂ}’
28393617558, # 4 o 23~

13" day
28393617559, % 13 & &er

Etll dﬂ}"
28393617560, ¥ 6 & B~
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Correct Marks : 1 Wrong Marks : 0
In humans the maternal blood comes into direct contact with foetal chorion.

So the placenta is described as
[f‘g " DO DT AW BIFASTEN T Srehy) G50 & HoVOTR)

D3 YETHEOLTON. WENSO0ES 2T°AWHD De0EFED?
Options :



Chorioallantoic

28393617561, % BPOG DT O8N 2T A5y

Haemochorial

28393617562, & ST RTTOORS 8OO0

Discoidal
28393617563, & WIS 20°CAL0Y

Deciduate

28393617564, & 22 BTN
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ZIFT is

ZIFT eo S
Options :

Embryo transfer or intrauterine transfer
28303617565, % DO OO B Ho")FAH 0SS 2BO

The ovum 15 extracted and fertilized outside and zygote 1s transferred

mnto the fallopian tube.

@0 DEBOL) DANLEL @ O arims HOBES TIOD ISYAS
18393617566, & MO #1108 D) (R AT DAhd ardo oF DS edo

Transfer of ovum into the fallopian tube
18393617567, 8 SOV S DOHS o S8 26O Favdeso

Ovum collected from a donor is transferred to the fallopian tube of

recipient woman

b OB DEGODS @OER) |1ers (& DSDOHS TEINSE 260
28393617568, % TIONCHO.
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Assertion (A): In cockroaches the sex of offspring depends on the tertilizing

sperm.
Reason(R): Cockroach males are heterogametic with XO chromosomes

Q2350 (A): 5E0ES Dol AT B HOAESH TodoT Dk
esrT B0 Gotnod.
5820 (R): Soi 5Qofen X0 [FarsEHne EOn ¢od D05 Hoolrs
Dzsrenrr oeron
The correct option among the following is
& 1808 D ITOS HOTOSE
Options :
A and R are true. R is the correct explanation of A
18393617569, ¢ A 200A50 R Bodd SO, A 8§ R S8TS DdSed

A and R are true, but R is not the correct explanation of A
18393617570, % A BTN R Boch S8, 5°A A § R SO DG 5°¢0

A 1s true but R is false
18393617571, & A QORI R SOQDAG 5°¢0

Both A and R are false.
13393617572, % A 00CW R Dol SO 5%

Question Number : 74 Question Id : 2839364394 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phenylketonuria, sickle cell anemia and cystic fibrosis are caused respectively

due to

2 DS S 0B F%SE Sea 58 aredeh, DRE DS DR TGOMSD SBIT S

B’ S Swe ewdneen
Options :
Chromosome 7, Chromosome 11, Chromosome 12

18393617573, & B arde 7, & 11, s 12

Chromosome 12, Chromosome 11, Chromosome 7

28393617574, ¢ FrES 12, FarE 1, FrssS 7

Chromosome 11, Chromosome 18, Chromosome 9

28393617575, % (S arden 11, F3rd 18, F3rdS 9



Chromosome 18, Chromosome 11, Chromosome 9

28393617576, % S &0 18, FrED 11, &' 9

Question Number : 75 Question Id : 2839364395 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
Labelled probes are used in DNA fingerprinting for

B.08.9 Doib (Doe3oh Bsm) ©E S BATITE O (SO oS
SraoOdriardo.
Options :
[solation

28393617577, % Olire TAhco

Blotting

28393617578, & &e30R

Fragmentation

28393617579, % POGESE

Hybridisation

28393617580, ¥ 0EBE5E
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Correct Marks : 1 Wrong Marks : 0
The connecting link between amphibians and reptiles

GHONVT O DODYTF 5 DOTOHE Ve DO?
Options :
Eusthenopteron

) W
28393617581, % QUrPPTHES

Seymouria

28393617582, ¥ Dardalr

Archeopteryx

28393617583, 8 &0 AVWEE)



Cynognathus

= F
28393617584, % DI TSR
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Correct Marks : 1 Wrong Marks : 0
The principle which states that the allelic frequencies in the population will remain

constant from generation to generation under certain conditions was proposed by
) 0SS0 5 S0 2.8 BT S B Drdsarsen 8 STrenT NSO

GOLFONA B2 ACDATR) (DBIO0DS %
Options :

Alfred Russel Wallace
28393617585, # BBIG ES FBR

Hardy, Weinberg
28393617586, ¢ @ SR

Sewall wright
=]
28393617587, % VO BE

Thomas Malthus
28393617588, % a0 'O GIR
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Correct Marks : 1 Wrong Marks : 0
Commercial broiler strains used in India are

e300 |2roned dsten
Options :
Hyline

28393617589, & O
28393617590, % BV-300r

Poona pearls

28303617501, % SJTRO° VS SEN



Hubbard

28393617592, ¢ el

Question Number : 79 Question Id : 2839364399 Question Type : MCQ Option Shuffling : Yes Display Question
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Arrhenotoky means

@B § e
Options :
Female parthenogenesis

28393617593, % @3¢% @D nE 2550

Male parthenogenesis

28393617594, ¥ o0 @018 BANO

Homozygosity

28393617595, & e0030M230

Heterozygosity

28393617596, % 2eke0CNM230
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Statcment — I Dircet ELISA 1s used to detect antibodics.

Statement-II; Indirect ELISA 1s used to detect antigens.

@0F0 - I |DeébE ELISA & D805 HA0RE IATDNardh
@040 -II eaHedzd ELISA <O [Hedzzdserdh HOoSmE DAa3rha)d

The correct option among the following is
&1 1806 DV TOS HOTHIO
Options :
Both statements I & II are correct
18393617597 % @030 [ 08w IT HBSD

Both statements I & I are false



Statement [ is correct but statement 11 is false
18393617599, % @030 [ OBIG, @040 I1 ATIS 5°¢0

Statement [ is false but statement I is correct.
28393617600, & @030 I DI 5°¢%, @0F0 11 HTIL.
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Correct Marks : 1 Wrong Marks : 0
A man stands on a lift, open from above, moving up with a constant speed of 4.9 ms-1. If he

throws a ball upwards vertically with a speed of 9.8 ms™! with respect to the lift, the time taken

by the ball to return to his hands is

DEIB 4.9 ms1E OIS EeNEr &) PEDIS O S 2.5 HAD v ST .
S 2.5 20030 OP HSom 9.8 ms! SES LA™ DE DDOS, @4 SaSE S8A

TEEDE 206 a3 HaAaho
Options :
28393617601. # ls

28393617602. % 2 &
28393617603, # 3 &

28393617604, % 1.5 &
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Correct Marks : 1 Wrong Marks : 0
The dimensional formula for inductance is

5565 50 TBE), NBOH FrEder
Options :

171 T-2A-1
28393617605. # [M L T*A"]

172T-2A-1
28393617606. # [M" LETA"]

1 727242
28393617607 # [M LT"A ]

17172 A2
28393617608. # [M L'T=A ]
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Which of the following 1s an example of very short range force?

BB e3¢5 083 50),35 082 Sy, D00 DA?
Options :

Gravitational force

28393617609, # hches 55 200

Electromagnetic force

18393617610, & DAL 0% D)0

Strong nuclear force
28393617611, 8 DDV S015% 00

Weak nuclear force

¥ -5 g
18393617612, ¢ (0O TOIE 2100

Question Number : 84 Question Id : 2839364404 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0



The height of the ceiling of a long hall 1s 7.2 m. The maximum horizontal distance that a

rubber ball thrown with a speed 0f 20 ms ! can go without touching the ceiling of the hall is
(take g = 10 ms?)

2% DA Sened DEY) DM 7.2 m &08. 20 ms! SAE DNOS 2.5 S8 20 SeneS DED)
& e ¥%oc ITHON K6 § D3 Ddrodsd drdo
(g - 10 ms? r &0Fod)

Options :

28393617613, ¢ 38.4 m

28393617614, % 39.2 m

28393617615, % 40 mu

28393617616, ¥ 40.8 m

Question Number : 85 Question Id : 2839364405 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
The bob P of a simple pendulum of length L released from 60° to the vertical hits the bob Q of

another pendulum of same length which is at rest on a smooth table top as shown in figure. If the
masses of P and Q are same and collision is elastic, then the height to which the bob Q rises after
collision 1s

(neglect the sizes of the bobs)

8 82 0278 60° Fooo Ty &) L drdsyiie edndono fi¥o P D SS0mr @b Hevsnd
TFDILY DRS00 AonW D )0 VAS &S) @od PEY FORS HTFE esnSodo o
Q D AFHA. Aere (BSITHED JIFIEN HBAW ©dirdo DaTHEoNS , edirdo
Sared FFo Q BDS e

( fierme) BB i owod )




Options :

L
28393617617. ¢ 2

L
28393617618. ¥ 4

=
28393617619. ¥ 8

Zero

28393617620, % (CNT)N
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A small block of mass M is released from the top of a rough inclined plane shown in the figure.

If the coefficient of friction between the block and the inclined plane is 0.5, the speed acquired

by the block when it reaches the bottom of the inclined plane is

M | 55:35078 Hed 2.8 D) A HENES’ BArdd Hthh srendero erio Hod SSendod.
ATH0, reneders i e Hengo 0.5 @wond , A Trendeo §ob8 TEH08 froll 56

M
Vd I
Im

:

—— lm —
Options :

[ |
28393617621, ¢ \E“’“

-1
28393617622, % V28 MS

-1
28393617623, % V3& MS

| |
28393617624, % 2\E"'"‘
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The maximum speed with which a car of mass 1000 kg can move on a circular track without

slipping on a horizontal road having coefficient of static friction 0.5 1s 7 ms'!. What 1s the static
frictional force between the car tyres and the road when the speed of the car on the same track

15 5 ms'?

1000 kg > 18355072 &S, 2.5 5% 0.5 D doden theafo &b S0z Haroshd ) s 2.%
Syt Srdio Joad rodrorr 08 600 54 7 msl. @f Srdo & =% S6 5 ms!
€3) 5380 S TG, BT g DBE G 200 J0 7

Options :

28393617625. % 4900 N

28393617626, ¢ 2500 N

28393617627, % 250 N

Zero
28393617628, % (FOET°))
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Correct Marks : 1 Wrong Marks : 0
A boy of mass ‘m’ stands at one end of a long trolley of mass M moving with uniform speed V

on a smooth horizontal floor. If the boy runs forward with a speed hd , What is the speed of the
7

—

centre of mass of the trolley-boy system?

031 82 HIrosd IO VAN I68 3OS M |183:0°3 B0 2.8 FE3S 1670 nd 2.8

: Y :
DG m’ (53R Ker arendd Derwad deary b, 2rendh — GBS Anodhdo HEAGE, |erd) -
q

.

2770880 9558 1£96550°3 SO0 &5& dodh ?
Options :
M -m)V

28393617629, # 2(M—m)



(M+m)V
28393617630, # (M —m)
LY
28393617631, # 2

28393617632. ¢ YV
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A circular ring rolls up an inclined plane of angle of inclination 30°, If the speed of the centre

of mass of the ring at the bottom of the inclined planc 15 9.8 ms™', then the maximum distance
the ring can go up along the inclined plane is

2.8 Syersed 080 30° Trentoo &) .8 Tendeo 2 806000 28 SHE0H . arendeo
1BOS @0L0SQ Eo¥eao 6555077 Bo(G0 S& 9.8 ms! ®mond, arendeo J008 oo E

FEHOT 56 Srdo
Options :
28393617633, # 9.8 my

28393617634, % 13.72 mu
28393617635, % 14.7 nu

28393617636, ¢ 19.0 mu
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A spring balance has a scale of length 10 ¢m and reads from 0 to 2 kg-wt. When a body suspended

from this balance is pulled and released, it makes oscillations with a period of 0.44 s. The weight
of the suspended body is
(take g = 10 ms?)

10 cm &r¢sayiier (D00 (@0 penm 0 0 2 kg-wt BA0MHen 05, & (@08 (SerdddS af
509D erf SADS @O 0.44 s BoaTd8S 5008 BOrren DRNOA. |FereANS S 2rd0
(g=10ms? e 080 )



Options :
28393617637. % 0.49 N

28393617638, ® (.98 N
28393617639, ¢ 9.8 N

28393617640, ¥ 98 NI
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1 th
Mass of a planet 1s 5 of the mass of the carth. If the escape velocity from the surface

z T : .
of the planet 1s F times that from the earth, the radius of that planet in terms of earth’s

radius R is

1
2.8 15550 189655072 B8 1955073 T o5 o50eh, |H5Tea B oS Herahdd

SEXD 2 GHBSsD ol Herohd BHsndS oY @ond |HTariardsdn

1
N7
Zirarsardan R e 6F
Options :

28393617641. % SR

R

28393617642, ¥ 2

-
28393617643. % 2R

| o

28393617644. %
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A rod made of material of Young’s modulus 2x10'" Nm™ undergoes an elastic strain of

(.04 %. The energy stored per unit volume in it is

0%90R Mo 2x10'° Nm™ #e Hordod TohadS 2.8 58 0.04 % DSBaTHE DEYHE Hb

OB, TS’ D508 DSNOITETE e &) ¥8
Options :

3
28393617645, % 400 Jm
3
28393617646, % 300 Jm
=%
28393617647, % 1200 Jm

-
28393617648, ¢ 1600 Jm
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An air bubble of radius 1 mm 1s formed inside water at a depth 10 m below the surface of

water. The pressure inside the bubble 1s

(Surface Tension of water = 7>10-2 Nm!; atmospheric pressure =10° Nm? and g = 10 ms?)
D3 eeHBeerAn o 10 m Sened | mm arsardander mé) 2ndh® D )GaA. 2nchied He)
25330

(e deredSzed - Tx 102 Nml, oS b330 - 10° Nm? Socin g = 10 ms2)

Options :
28393617649, % 2-28 X 10° Nm™*

28393617650, % 2-0028 x 10° Nm
28393617651, % 2.14 x 10° Nm*

18393617652, ¢ 2.0014 x 10° Nm™
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2 kg of ice at =20 °C 1s mixed with 5 kg of water at 20 °C in an insulating vessel having a
negligible heat capacity. The final mass of water in the container is

(The specific heat capacities of water and ice are | kealkg °C and 0.5 kcalkg °C

respectively, the latent heat of fusion of ice is 80 keal kg™')

=20 °C G195 5 ardd) 2 kg 1895072 K6 000 20 °C 3O &3 5 kg (555077 Ko A3’
200 areheS’ EODT . e RS e DN00VSANG. areeS” ) el
e (G550

(e3 DPFNSW 1 kealkg ' °C ', Hoth PRS0 0.5 kealkg ' °C 00050 HOH

(55285 50 80 keal kg'!)
Options :
28393617653, % /1 K&

28393617654, ¢ 0 K&
28393617655, & 4 kg

28393617656, % 2kg
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3 moles of a gas requires 60 cal of heat energy for 5°C rise of temperature at constant

volume. Then heat energy required for 5 moles of the same gas under constant pressure for

10°C rise of temperature is

(universal gas constant = 2 calmol '°C ')

PG S0AD0 N S5 3 Drd e ordineg BnE) aif|itad 5°C DohHerdy smd
crey¥§ 60 cal escmd, 5 ArdSer HOATO0 Ker BT arcing g Hiesdh P&ncsdo 5 10°C
ROLHLB S5O il

(28 51D% ok Horoo = 2 calmol” °C™)
Options :
28393617657, # 200 cal

28393617658, % 400 cal



28393617659, % 100 cal

28393617660, ¢ 300 cal
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Two metal rods A and B have same difference of 60 cm length at all temperatures.

If the coefficients of linear expansions of the metals of A and B respectively are
1810 ° °C " and 27+10 °°C', then the initial lengths of the rods A and B
respectively are

@) &S 3G Dotk S5 EGen A HOCH B PG Siaeedasw 60 cm.
A 000 B ¥Ge) 5505 B ¥ thsten Schane 184107 °C7 a0 ain

27x107° °C™" evcws, A 005w B G0 O dhyen SSHIm

Options :
18393617661 % 120 cm and 80 cm

28393617662, ¥ 180 cm and 120 cm
28393617663, ¥ 160 ¢cm and 100 cm

28393617664, % 240 cm and 180 cm

Question Number : 97 Question Id : 2839364417 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If p 1s the density of the gas. m is the mass of one gas molecule, K is Boltzmann constant

and the absolute temperature of the gas i1s T, then the pressure (P) of the gas 15

p arain Aroies, m arcineg @ugy 2.8 e (KGaorR, K &G, snd Qoo Sndaiv

T araney Bd) HBD GEFNS @ond T ahn DS (P)
Options :

KT
P="—
28393617665, ¥ m



28393617666. ¥ T
p= pmT
28393617667, # K

28393617668, & P=pKmT
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Match the following
List -1
A) Equation of continuity

B) Bernoulli’s theorem
C) Turbulent flow

D) Stream line flow

1508 ) 2350 ttn
2 i)e-1

A) Rroheds DanEBeacin

B) 35O dgrohsin

C) do¥o2 1D

D) o Bar [RaTersan
Options :
28393617669, & A-1V, B-11, C-1, D-II1
18393617670, % A-l, B-1V, C-11, D-1I1
28393617671, ® A-IIL B-II, C-1, D-IV

28393617672 ¢ A-1I1L, B-IV, C-II, D-I
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List - II
1) less than critical speed

IT) formation of whirlpool
III) law of conservation of mass

IV) law of conservation of energy

arder-11
I) HoOE S5G X0 5058
II) Sodthomen 8 e
III) 118965502 ehsed ¢ T aadn
IV) 8 Qebged s Daadedn



A source producing sound of frequency 170 Hz is approaching a stationary observer
with a velocity of 17 ms™!. The apparent change in the wavelength of sound heard by the
observer 1s

(Speed of the sound in air = 340 ms!)

170 Hz raaspdzo 5000 G500 =00 Tointnd) a8 addo Joalsd fo
SOFOHABY 17 ms1 3o |DOFB R, @ DT S5 $8oiBEz0e S 7 Sr)

(rOS’ 5D 5G& = 340 ms?)
Options :
28393617673, v 0.1 mu

28393617674, & 0.2 mu
28393617675 % 0.4 me

28393617676, % 0.5 m
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A tuning fork gives 5 beats per second with 40 cm length of a stretched string. If the length

of the wire 1s shortened by 1 cm, the number of beats per second 15 still the same. The
frequency of the tuning fork 1s

2.5 339350850 40 cm 87%y Ko 2.8 EAHDAS SHES DE0HEL 5 DN I0HT O e 1B
TR0 @GS 1 cm #$HoDAaN% ST DH0MS oy AT B eand

#9800 MnE) Dedia)aigedn
Options :
28393617677, % 385 Hz

28393617678, % 320 Hz
28393617679, ¢ 395 Hz

28393617680, % 400 Hz
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Correct Marks : 1 Wrong Marks : 0
Two equiconvex lenses of each focal length 24 ¢m made of glass of refractive index 1.5 are

placed in contact coaxially and the space between them i1s filled with a iquud. If the focal length
of the combination 15 18 cm. the refractive index of the hiquid 13

S8e955 ibesso 1.5 e rrerd Soirth Sabeds e85 24 cm Trgoddo e Dot
SRubsogrsed Stsoi SFHor SR8 a8 ety 9l ad ks (30T &8 (BH08" Joarth.

guwo Sodrfo @) wrerosto 18 cm wond ($Ho dwg, HESS Do
Options :

|

28393617681. %

| Ln

28393617682. %

|

28393617683, ¢

5
28393617684, % 4
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In Young's double slit experument, 1if the screen 15 moved 40 ¢cm away trom the plane of the

slits, the fringe width increases by 0.16 mm. If the wavelength of the light illuminating the slits

1s 600 nm, the distance between the slits 1s

ahoh e:08 HOE (HAFToS®, 365 HD%e dwo Hod 40 cm  Srbore 653 @ Jtte) 0.16 mm

20ASE. HOSLD (HHSL0 T 08 Sorigdso 600 nm wowd, HOSL Hef tro
Options :
28393617685. % 0.5 mm

28393617686. % 1 mm
28393617687. # 1.5 mmu

28393617688, % 2 mim
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The electric field due to a short electric dipole at a distance of 10 cm on the equitorial plane from

the mid point of the dipole is E. The electric field due to this dipole at a distance of 20 cm on the
axis from the mid point of the dipole is

a8 s?ﬁ“% DS Byido g gy von oo R iy dothsh Hod 10 cm &=8oé&t Ko

a8 Dothy $¢ DS gwo E. & &hdo e ahde i Dothiy wod 20 cm

Er80d® Ko 2.8 Dothd 6 dyé FWo
Options :
28393617689. & E
L
28393617690, # 2
.E.
28393617691, & 3
E
28393617692, ¥ 4
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The work done 1n increasing the potential difference across the plates of a parallel plate capacitor

from V to 2V 1s W. The work done in increasing the potential difference across the plates from
2Vto3Vis

a8 Hdrosd Hedo Srded dolo dhd; Sragdhe Fdodk V od 2V i Dot

Dbt 50 W, sexes gy ArEQ e gcsod 2V doh IV £ modhad duobhkeds 50

Options :

W
28393617693, % 5

5W
28393617694, ¢ 3

28393617695, # W



W
28393617696, & 3
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In a potentiometer experiment, when a cell is shunted with a resistance of 4 £2, the balancing

length 1s 2 m. If the cell 1s shunted with a resistance of 12 €2, the balancing length 15 3 m. The

internal resistance of the cell 1s
2.8 SrBY@riet BRIl a8 trd) 4 Q Joff VB°S0E® HorrolSipd Sosws
S 2m . o 120 Solf 08 Jorrloddn Sohed &K 3 m. Hio GwY)

wos&F 0.
Options :
28393617697, ¥ 4 £X

28393617698, % 12 £k
28393617699. & 6 L&
28393617700. ¥ 3 £k
Question Number : 106 Question Id : 2839364426 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the given circuit, the reading of the voltmeter (V) is

(Resistance ot the voltmeter 15 900 ) )
adEptd Hoohod ™ E'J“'_‘E:Eg et (V) @y Sboid

{F.‘isvég Soeath o 900 Q)

110 1~'| L 1002
|
10052
AN
Y
\J

Options :



28393617701. # 110V
28393617702. % 99 V
28393617703, % 121 'V

28393617704, % 90V
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An electron and an alpha particle enter a uniform magnetic field normally. If the force on the

electron is twice the force of the alpha particle, then the ratio of the speeds of the alpha particle
and the electron is
a8 duguh 00 el wonsEo w8 2808 BB YB0GNS wowon® (EI80DN. dugp @0

Breeo som¥no STn aord8 Bl wond wom ¥po HBdH Jeistie She R
¥ - W i (4] =
Options :
28393617705. % 1:1

28393617706. % 1:2
28393617707. % 1:3
28393617708, ¢ 1:4
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2
An equilateral triangular loop of side 100 ecm carrying a current of \—/_-?:A 1s placed in a uniform

magnetic field of 3 T such that the plane of the loop is in the direction of the magnetic field. The

torque acting on the loop is

2
ﬁA DS (HarER KOA &5y 100 cm gheo He a8 Jherdv @8 mresd erhid 3T 8bs

©chIesFEos® ard @) oo wdhirod E@ 8¥6° ¢ol DForr soTrd. erhR ST &),
Options :
28393617709. ¥ 2 N



28393617710, ¢ 1.5 Nmu
28393617711, & 1 Nmu

28393617712, % 0.5 Nmu
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At a place. the horizontal component of earth’s magnetic field is \E times the vertical
component of carth’s magnetic ficld. The angle of dip at this place 1s

&8 ($50F0 & eredhdyod BEo Ty S8 JNrodt wodo dredhivmod JBo TnY) §8s wow

©0o08 V3 By & (HB¥0 ¢ ehsrd Swo
Options :
28393617713. ¢ 307

28393617714, # 45%
28393617715, # 60%

28393617716. % 90%
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A coil of area 100 cm? and 100 turns 1s placed 1n a magnetic field of 0.2 T such that the plane of

the coil 15 perpendicular to the direction of the magnetic ficld. It the magnetic ficld 1s reduced to

zero 1n a time 0.2 s, the emf induced in the coil 13
100 ey Fereso SoBam 100 Meép Mo a8 BM5EH 0.2 T oohinodgsod® 81y dwo wohHmod
=08 vomorr soBAgorr soTd. ewahInod e 0.2 s reod® Ero edly Njore SA, K

Seyd® (HohESay emf
Options :
28393617717. % 0.5V

28393617718. ¢+ 1 V



28393617719, % 2V

28393617720. # 0.2V
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A parr of adjacent coils has a mutual inductance ot 2 H. If the current in one coil changes from

0 to 25 A 1n a tune 1s, the change of flux linkage with the other coil is

D%y 55208 &) 2% 2365 AN D @Sk 55550 2 H 2.5 <060 D:d 0 o0 25 A 5550

Is 503069 ATOHaN®, Dot 68 tne)eS e 0ddoed ST, Ardh)
Options :
28393617721, % 100 Whr

28393617722, % 12.5 Wb

28393617723, & 25 Wb

28393617724, ¢ 90 Whe
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In an AC, L-K circuit, the inductive reactance 1s equal to the resistance R in the circuit. An

eml E=F, cosmt is applied in the circuit, then the power consumed in the circuit is
2.8 AC, L-R S0d0063 |288eh 1 (HAEH0 S5000H0e5°@ D0 R §o Hsdrredan.

adechosS emf E —E ;| cos 0t & @0050052 085550 DATBrAonnd 2doid ardndso
Options :
Ej

28393617725, % Ry/2

EG
28393617726. ¥ 4R

2
Eg
28393617727. # 2R



EG

28393617728. % 8R
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Uranium-235 is used as fuel in a nuclear reactor that takes 30 days to use up 2 kg of fuel.

It each fission gives 185 MeV of usable energy, then the power output of the reactor 15

2 kg & coBah0-235 R0dad)) BHd3riod) 30 Szred, 8.5 DD 185 MeV o

SHTATHESTS 489 2 2.8 e OGIrES eyt Arndso
Options :
28393617729, & 2.85 MW

28393617730 ¢ 98.5 MW
28393617731, & 985 MW

28393617732, % 3850 MW
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Electromagnetic waves are produced by

DADEAADET) 06h S0men DS 5055 DB JhEran
Options :
Charges at rest only

28393617733, & V3O a8 D aBTe) S JrEh

Charges in uniform motion only
28393617734, & 2568 SoI308 fie e3Te SO IPSD

By uniformly moving neutrons only
28393617735, % SS08 SOI0S" B DFEFDHO SO S S

Accelerated (or) decelerated charges only
18393617736, ¢ SO0 TOT ST 206D & 660 TOT BJT°© HO ST (D
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3h
m

An electron is in an orbit of hydrogen atom with angular momentum . The minimum

wavelength of the emitted radiations is
(h-Planck’s constant, R-Rydberg constant)
. .. 3 :
TEFES HEIreng 2.8 5515 Gl doIT FSah L_c‘:&&’)g?ﬁﬁ@ﬂ—l . Gr&HODh; VideTe
2n
£ édofzgo
(h- 2ros Yoro¥o, R-68 »§ woro%o)
Options :

9
28393617737. ¢ S8R

36
28393617738. & 5

4
28393617739. # 3R

27
28393617740. # SR
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The figure shows the variation of photocurrent (1) with anode potential (V) for a photo
sensitive surfaces for three different radiations. If I., I and L are the intensities and

Vg, Vi, and v, are the frequencies of lights for the curves a, b and ¢ respectively, then

2P dheraine) 2 arch B3ch 33¢h DEGmaAnen Hedaiain TTOOMNN I S DA D%
(I) S00din &35 SFRaQand (V) 8 A 1wy Heasined’ comdind&so. a, b ddin ¢
S|E30080 H020B0D SBT Ia, Tn 00050 L €0 57088 e3|Sedex) SO0 V,, V, SHOC V.
€0 5703 T r0 feo0EN), €900

Options :
v, =v,and I, # I

12393617741, ¢ Va = Vi o000 I; # Iy

v,=v_andl; = I;

28393617742, & Va = Veon0ahw I =1

s=vyandI, =1y

28393617743, & Va =V, 00 I =1y,

v, =V, andly = I

18393617744, & Vi = Vo000 Ip =1,
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A freshly prepared radioactive source of hali-life 2 hours emits radiation of intensity which 1s
64 times the permissible safe level. The minimum time after which it would be possible to

work safely with this source 1s

Dot ot ef B¢ swo 5000 ererm daird Tobhads o8 0GIr 08 adfo
00BN S 6 row 0T 64 BEY @O 196 Ko V8GR, e TWo, & zd%o

& £n&8 sorr HATAHEDE T od s DR Hanaho
Options :
6 hours
28393617745. & 6 flocyen

12 hours
28393617746, ¢ 12 fiotren

24 hours
28393617747, % 24 fiodren

128 hours
28393617748, % 128 focren
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Assertion (A) : The conductivity of a semuconductor increases with the rise n temperature.

Reason (R) : At absolute zero temperature, the free electrons are not available 1n a pure

sermiconductor.

JA7)80 (A) : GFESS'D DHMEOE 2.8 dFTEo FirEs 10 Rdha0d.
5820 (R) @ D8I &lifics 5O, HADS ©JairE0eS W) DO Fen ©25350 T,

The correct option among the following 1s
& 1308 DA ITOS HBTDIE
Options :
(A) and (R) are true. (R) is correct explanation of (A)
18393617749 % (A) 0O050 (R) 2:33). (A) B8 SO DS (R)

(A) and (R) are true, but (R) is not the correct explanation of (A)
18393617750, ¢ (A) 0BAM (R) 2., 5% (A) GIngy DB DS8ea (R) 52



(A) is true but (R) is false
28393617751, & (A) 2333 5 (R) 83)

(A) is false but (R) is true.
28393617752, % (A) ©3) 5% (R) 223
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Match the following logic circuits given in column I with the output equations in column II.

(Aand B are inverted versions of A and B respectively)
erdder | S 86, o 3oreD, 2rder 1L &7 DG DDESETO BSHEHSM

(A 30005 B ex 3%5m A 26050 B @ I8 Sren)

Column 1 Column 11
2o | e 11

2

A g J>—l>—*r P ¥
)

B. o v
A

¢ j—@:—‘r R Y=A.B
A

D. . }v S. Y=A+B

Options :
18393617753, + A= R, B—=S5, C—>P, D= Q

Il
2=
_|_
ws

28393617754. 8 A =S, BoR, C>P, D->Q
»2393617755. 8 A= P, B=Q, C—>R D-S§

28393617756. 8 A =S, B—»P, C=Q, D—-R
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A transmitting antcnna at the top of a tower has a height 32 m and the height of the
receving anlenna 1s 50 m. The maximum distance between them for satislactory

communication in line of sight (LOS) mode is

(Radius ot the carth = 6.4 x 10°m)

2.5 FDE0 D &), (DS S0TIT), ) 32 M DAY IS S0TT), e 50 m.
B0 DB (LOS) ¢ & 80B0E3 03 DOBYNESIN [Dardo B0 GodI0S (0
Srdo (Frarserdo = 6.4 x 105m )

Options :

23393617757, # 8 X 102 X /10 m

28393617758, % 12 X 102 X V10 m

18303617750 % 64 X 102 X /10 m

58393617760, @ 144 X 10 X /10 m
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The ratio of radii of second orbits of Li*" and Be'' is

Li** 8050 Be' ©¢5° Bods 855 asarg e D)8
Options :
28393617761, v 4+ >

28393617762, % 213>

b

28393617763, % 3

28393617764, % 3 1 4
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h
In Bohr’s hydrogen atom the angular momentum of electron is —. The energy of that
7

electron (in eV) is

2h

5°0 PIEBS DEITENHS’ AOFTR FI0DH (B35 S0 — 0w JO|FTS 38 (eV o)
Fia

Options :

28393617765, % ~3-4

28393617766, ¢ ~0.85

28393617767, ® -10.2

28393617768, % -0.64
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Arrange the elements S, O, Cl and F in the correct order of electron gain enthalpies

(4,H)

S, 0, C1 50805 F & JOIFS M55 20570) (A H) © SO FH0S e8¢ 3680
Options :
28393617760, # C1=0>S5>F



28393617770, 8 F>Cl=>8> 0O
28393617771, ¢ C1> F>5> O

28393617772, 8 C1=5>F> 0O
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The hybridisation of carbon atoms from left to right in the given compound are

respectively H,C=C=CH-C=N
1808 H02PI0’ DB DOD FoAE 5°5)S HDESTEWHO DoEBEBeTEeN SO
H,C=C=CH-C=N

Options :
28393617773, % SP " SP, SP™, Spr

28393617774. % SP , Sp , Sp , Spr
28393617775. % SP» SP”, 5P, SP°

28393617776. ¢ SP - P, Sp°, Spr
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[n how many of the following intramolecular hydrogen bonds are present?

o — Nitrophenol, m — Nitrophenol, p — Nitrophenol, Salicylic acid, Salicylaldehyde,

p — Aminophenol, o-cresol

1808 ¢3S’ D063 CHOH e S0 T B S VOTENOETON

0 - JE S, m — JE DS, p — FE S, FOVOE o, IODerd s,

P — QWS DTS, 0 - S
Options :
28393617777, % 4



28393617778, ¥ 2
28393617779, & 2

28393617780, & >
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At T(K), in a 10 L vessel equal masses of O,, CH, and SO, are present. If P is the

total pressure of the mixture in bar, the partial pressure of SO, (in bar) is

T(K) 58, 10 L (e85 80 |9350Hen e 0,, CH, 835 SO, e &5) .
MF00 Do D0 P (bar) @ondS’ SO, 88 2esd0o (bar o)
Options :
P
28393617781, ¢ 7
iy
28393617782. & 7

4P

28393617783. % 1

9p
28393617784, & 7
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In which of the following the under lined atom is in lowest oxidation state?

1808 5°¢3¢5° 80¢% figh AIrDODS &) HBSTEWY R 381588 VRS’ B0ENOS?
Options :

28393617785, ¢ NHy
28393617786, & H15

28393617787, # NaH,PO,



28393617788, % NH,OH
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Consider the reaction NH, HS(s)—=NH,(g)+H,S(g)

At T(K) the equilibrium pressure of the reaction mixture is 1.12 atm. The K, for the

reaction at the same temperature (in atm?) is

1B0& 585 HOHEdoTHSN
NHsHS(a2) == NH3(s3°)+H:S(s3°)

T(K) 56 Ddedoee DS do7s |00 2¢850 1.12 atm @005’ e & f|iied 5S¢

8550 Kp Dewsd (atm’ o)
Options :
28393617789, & 1.2544

28393617790, ¢ 0.3136
28393617791, % 3-1361

"
28393617792, % 6.272
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The solubility of calcium fluoride in saturated solution, if its solubility product is

3.2 % 10 s
sAN0 FDE BwE), (rSedcheE ©0 3.2 x 107! @00 H0&8y (7608

TBE), (Trdedaed
Options :

-4
28393617793, # 4.1 x 107 M

4

28393617794, & 4.0x 107" M
-4

18393617795, # 1.3 x 107" M

18393617796 ¢ 2.0 x 104 M
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Zeolite 1s a silicate of two elements X and Y. What are X and Y?

2BNBE ©TO X, Y @ Both Sresre DOFE. X, Yeo Q7
Options :

28393617797, % Na, Ca
28393617798, & Mg, Al
28393617799, « Na , Al

28393617800, & Mg, Zn
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Assertion (A) : LiCl and BeCl: are soluble in ethanol

Reason (R) : Lithmum and berylllum are harder than their respective group elements
D380 (A) : LiCl 508050 BeCl e 2dS'S Sodh E&fheron
s8¢ (R) : OHcHo, BOOCHO SGIF (Aryoed'a 2ed Jrose §77) E63:05.

The correct option among the following is
& 1200 DD )57 HOTDASO
Options :
(A) and (R) are true. (R) is correct explanation of (A)
18393617801, & (A) s08AW (R) HBIB. (A) 30 (R) OB DG

(A) and (R) are true, but (R) is not the correct explanation of (A)
28393617802, ¢ (A) 083 (R) OB, 572 (A) 50 (R) OB Jad8ea 57¢

(A) is true but (R) is false
12393617803, % (A) QOIS 5% (R) SO 570

(A) is false but (R) is true
28393617804, & (A) DODIE 5°¢0 *A(R) OIS
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Identify the incorrect statement from the following

1808 365" HB5° a5 5 MHO0THED
Options :

Mg — Al alloys are used in aircraft construction
18393617805, & Mg — Al F ST DSrS Jo TS Therd

Be (OH); is amphoteric in nature
18393617806, % B€ (OH)2 80 &5 52750 sotnod

Beryllium halides are ionic in nature
18393617807, ¢ SO0 FFBE en eASTRE H5erarv) SO Gotron

BeCO; is unstable
28393617808, % BeCO3 @REHSO
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Observe the dimeric structure of aluminium chloride and identify the correct order of

bond angles a, p and y

00 S‘g:‘fs B8 DOMETR) DOTD0D, DOGE N o, B, O v ©
A0 (o thfohan

Cl
NS

Al B Al Ya
Cl/ \'CI Cl

28393617809, % @ = P>7

Cl Cl

Options :

28393617810, ¢ ® = Y = [F
28393617811, % ¥~ @ > [k

28393617812, & P> ¥> @
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Identify the correct statements from the following
Bo® 78S DB T s HOoTD

A.  SiFF exists but not SiCI3”
SiF,” @320 A SiCly” exdohdn

B. [Ar]3d""4s’4p’ is the electronic configuration of an element which is used as a

semiconductor
[Ar]3d°4s? 4p? JO| T DTz00 e areSod eITTrod adEd)

C.  Both CCl, and SiCl, undergo hydrolysis
CCl, 08ciw SiCl, en Bodr 2o koo Joderown

D.  In+4 oxidation state lead acts as a reducing agent

14 @858 DS BE 50HESST HA Tod

E. Pbl; does not exist
PbL; &0
Options :
28393617813, v /% B & E only

28393617814, & As C & D only

28393617815, % B, C & E only

28393617816, % B & D only
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Which of the following is not an aromatic compound / ion?

1808 835 DO DTFH8¢3E D50 2¥N0 / 0SS 57
Options :
Cyclopentadienyl anion

28393617817, & 2 DoLrZazgs sdrd

Cycloheptatrienyl cation

28393617818, # DT Dand sedird



Anthracene
&
28393617819, & SNVD

Cyclobutadiene
28393617820, ¢ 5 20FETBONS
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The major product Z in the given reaction sequence 1s

QIS STYEDNOS |HES &350 Z 0dID

(aleKOH/A H0
CH;CH(X)CH; NI, 1%HgSO4 H™

333K

Options :
28393617821, # CH;C=CH

18393617822, & CH;CH,CH,OH

28393617823, v (CHa ), €O

28393617824, & CH;CH,CHO
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The number of sp’-sp” o bonds, sp’-s o bonds and p—p 7 bonds present in benzene

molecule are respectively

23083 WIS spP-sp° TDOTELY, spP-5 T VOTLD HOAW p-p TDOT®
Hoggen St

Options :

28393617825, % 6,12, 3

28393617826, % 6, 10, 2
.
28393617827, % 12, 6,3

28393617828, ¢ 0, 0, >



Question Number : 138 Question Id : 2839364458 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the reactions I & 11
2&gen I & I e H6fedododd

: Conc.HoS50y4 HBr
L CHO——r204 5 A >B

Anh.AlCI
L. BACH, —SUED g o

The correct statements about Z are
Z 50 020500 SO dTs5en

(A) It 1s anisole
20 INFS

(B) Hyper conjugation is possible in it
A0 93 H00INHE0 DO

(C) The substituent in it i1s a meta directing group
B oHOBO |HBT HE0 DeT S DVFE Do

(D) On oxidation with KMnO,/OH followed by hydrolysis gives a product in which
the substituent is meta directing group
KMnO,/OH" & 388860 T e0dor b 2o D000 230285180 288

&¢5)05) 065" DB HEO e 3 ATFE Hordro
Options :
28393617820, # A & B only

28393617830 % B & Conly

28393617831, v B & D only

28393617832, % A & D only
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Atoms of element X form hep lattice and those of element Y occupy two third of
tetrahedral voids. The formula of the compound formed by the elements X and Y is

X dured HSSrenagen hep 2resd) D8 )aron. Y dured HSdrensyen 2/3 artio
BEF TSSO S0Ered e3(EM0otLF0ETrow. X HOC Y & 838 Sabi$Ss0 BBwdy

0 er
Options :
28393617833, # A3Ys

28393617834, ¢ XiY 4
28393617835, % NaY3

28393617836, % XsY3
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The boiling point of aqueous glucose solution 1s 101.3 °C. Its freezing point is
(Given that Ky of water = 1.86 °C/m and K, of water = 0.52 °C/m)

B82S 230) (369690 TBwE 270132536 50 101.3 °C @901 &8 (E79€90 TB0EY, D255

50 (DS Ty Kr = 1.86 °C/m 800 Kp = 0.52 °C/m)
Options :
28393617837, & 4.65 °C

28393617838, ¢ ~4.65 °C
Tl
28393617839, % 2.65 °C

28393617840, % =2.65 °C
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The products formed at cathode and anode when aqueous copper sulphate solution is

electrolyzed using platinum electrodes are
5206 DB 2O (THETR), 3850 DOFE 0 SHTEAOD DS VBN

202D SEE DO BOSE © S BT Ered JaT) 0 SEOMT
Options :



28393617841, ¢ Cu, Oz
28393617842, & Hz, Oz
28393617843, & Cu, Hz

28393617844, % Hz, 50z
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The half life of a first order reaction is 30 minutes. What is the time required to

complete 90% of the same reaction (in minutes)? (log2 = 0.30)

2.8 (D@D 153708 i85 GlwE) 0T aineg 30 Qaarew e@ond & tids 90% o0 s 8

58 550090 (Aares) osé? (log2 = 0.30)
Options :

28393617845, % 30
28393617846, ¢ 100
28393617847, % 6L

28393617848, & 20
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Identify the correct statements from the following

A. Lyophilic sols arc irreversible sols

B. As»S; sol is not formed by mixing dispersion medium directly to As)Sx
C. Aqueous solution of NaCl exhibits Tyndall effect

D. Correct order of protective power of lyophilic sols is
Gelatin > Gum Arabic > Potato starch

B0 a¢3 Aol HDS g ot

A. ©GFDOE FSen (S 0e50h rSen

B. As2S: 80 B¢ DE D080 D@ AsiSi rdh 3G K¢
C. NaCl 2o (75620 e300 HOS0D 1088000

D. ©TrHOE S © HOTS HOBE 0 G (£300
20e3S > 1S ©dD8 > pore od 6

Options :

28393617849, & A & B only

28393617850, % B & C only
28393617851, v B & D only

28393617852, % A & D only
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Which of the following are not the correct statements about the extraction of
aluminium?

I. The electrolyte is purified Al:O; containing NasAlFg
[1. Cathode is graphite
1. Aluminium is formed at cathode

IV. Steel vessel with lining of carbon is anode

@OPEDAON0 DA Be50 Ho20HOD 1808 ¢3S & T 55eN DBSD 5°69?
I. Na;AlFs & &&5) O TS ALO; D&osd 335580

1 e o036 2886

[1]. @500 SEE HE DS I

IV. 5838 S3oeh &) e (e e SH

Options :
28393617853, % 1 & Il only

28393617854, % 1& IV only
28393617855, % 11 & 1l only

28393617856, v 11 & IV only
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The products formed during disproportionation of orthophosphorous acid are

e 050 @300 @SSO H) S DO BT doed Jor) en
Options :

Phosphine and Orthophosphoric acid

ﬁ E W af -
28393617857, ¢ TR0 DO eI 08 espo

Phosphine and Hypophosphoric acid

28393617858, % ) DO Ty 08 eho

Phosphorous acid and Orthophosphoric acid

28303617850, % TOIER €3O HOCKN esfrRrIOF esaho



Phosphine and Hypophosphorous acid

11'& = e L. UU = W
28393617860, % ol e Jr a0 2raFaR )R ee0
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Number of moles of nitrogen gas liberated when ammonia is treated with excess of

chlorine is

BT 9O FOS & 985 SoBODIYH InSTB IS T oing IS ©

QO
Options :
28393617861, & |

28393617862, % 2
28393617863, ¢ 0

28393617864. % 3
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Roasting of iron pyrites gives a gas, which on catalytic oxidation forms X. This X when

dissolved in Y forms a compound Z, with S-O-S bonds. Identify the compounds X and Y

DES B3R & PGS0 Fo HOTR DT T 50D & BI5E @38 15500 TodR X
©DotH. X D Y &' 5800055380 S-0-S 205en fied Z 595850 D0,
DaForen X, Y @0 ihoothw

Options :

28393617865, % 502, H2803

28393617866 ¢ SO3, H2804

28393617867, % 503, H28:0%

28393617868, & 502, H2804
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Number of lone pairs of electrons present in Xenon atom of XeF2, XeF, and

XeFs respectively are

XeF2, XeFs, XeFs ©&° Xe 2 e 2,080 260 JO|FQ Dowg SO
Options :

.
28393617869, % 152, 0¥
28393617870, & 35 2, 00
28393617871, % 35 1, |

28393617872, ¢ 33 25 |
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The spin only magnetic moment of Co?* in aqueous solution is equal to which of the

following 10ns in aqueous solution?

230 ce5e206) Colt egimS TRnE),. (25060 rBeb OO, 0 (2050 (Bod aved

5 P .
2 SHR0TR) ) @OirSad DS Goenod?
Options :

28393617873, % Fe°

28393617874, ¢ €1
" 18

28393617875, % Co

28393617876, % Fe’
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Arrange the ligands OH , CO, enand I in the decreasing order of their field strength

OH™, CO, en 5805 1" Brod e o°¢3 3 (b 22een 47 15005 @9:080 e
Options :



28393617877, ® en > CO > I" > OH
13393617878, 8 OH™ > " > en> CO
23393617879 8 I > OH™ > en> CO

28393617880 ¢* CO > en > OH™ > 1
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Match the following

List — I (Polymer) List-11 (Monomer)
A. Teflon [. 1,3- Butadiene & styrene
B. Bakelite II. Caprolactam
C. Buna-S I1I.  Phenol & Formaldehyde
D. Nylon 6 IV. Tetrafluoroethene
V. Propene

The correct answer is

808 °¢3R 3¢50 chedw
De - | (FOHE) 2D -1l ( DS e B)
A. BDIS L 1,3-205e08ond & ROS
B. 2358¢& . s &ferf0
C. 2085-S . DTS & o) erd
D. Serd 6 IV. BTrTSHHS

V. DS
~A0BONA AT T el
Options :
28393617881, 8 A—1V  B-1I; C-IlI; D-1

28393617882, ® A=V ; B-1IIl; C-1V; D-1I

28393617883, v A—1V ; B=1ll; C-1; D-1I

28393617884, ® A=V ; B-1; C-1lI; D-1I
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The components of lactose molecule are

825 @S 905N
Options :
[ —D—galactose , f— D— Glucose

28393617385, ¢ B—D—TPO§E, f-D-rss

a— D — galactose, @ — D— Glucose
28393617886, % A—D—TOFE, a—D— WS

[ — D~ galactose, a — D — Glucose
28303617887, 8 B—D— TO§E, a—D— ires

Two f—D— galactose units
28303617888, % OO f—D— mreofes crden
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Match the following

List — I (Drug) List-1I (Type of chemical substance)
A) Norethindrone I Antacid

B) Morphine I Non — narcotic analgesic

C) Aspirin [l Artificial sweetening agent

D) Cemetidine IV Antifertility drug

V Narcotic analgesic
The correct answer is

BO8 73R 235O TNAW

e - | (HoD) D& -1l (B AHS Herdb¥o)
A) T0HS|ES I &) DEE
B) 3838 1 &°Q - 08638 Jard D8
C) e)88 [l Ey|830 358
D) 23AS [V 5810858 SHocw
V 8,¢38 Qs
A0R RPN
Options :

28393617889, ®# A—=1IV,B-1,C-V,D-1

28393617890 8 A—IILB-LC-I1,D-V



28393617891 ¢ A—IV,B-V, C-II,D -1

28393617892, 8 A=II,B-V,C-1,D-1I

Question Number : 154 Question Id : 2839364474 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Compound A gives p-chloroacetophenone with acetylchloride in the presence of

anhydrous AICI; as major product. What is the product formed if A is made to react

with sodium in the presence of dry ether?

A ©5 350%%0 @8 AICL H05085° JBS T06 &, p-SEIDE DS & 105
&e5 350 BT, A & @7 S5 HHE oS FAHOE HEsSoB0DI %

DEIVE 51510 DE?
Options :
Toluene

28393617893, & ¢'OS

Diphenyl
28393617894, v* BRSO

p-Chlorotoluene
28393617895, % P'Sﬂaﬁafﬁs@rﬁ

Sodium phenoxide
28393617896, # RO DTFIB

Question Number : 155 Question Id : 2839364475 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following is a secondary alcohol?

1808 e3¢’ DO DE0HS se)HS?
Options :

2-methyl-1-Propanol
28393617897, % 2-WBS-1-@DSS

2-methyl-2-Propanol
28393617898, % 2-a0BS-2-EFDSS



2-butanol
28393617899, ¢ 2- 205 S

| -butanol
28393617900, % 1- 205EIS'S

Question Number : 156 Question Id : 2839364476 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

> X

CH,CO.H AlCI,

phenol > Y (Major)

The incorrect statement about Y 15

CH.CO,H AIC,

phenol > X > Y (1H57d)

Y %0 502200070 OO H0& arime 52X
Options :
It undergoes reduction with H,N—NH, / KOH, glycol, A

58393617901, & 2@ H;N=NH,/ KOH, 35S, A & § ahs6eo Todedod

It gives iodoform test
28393617902, % RO VODEID HOE AW0H

It liberates hydrogen with Na metal
28393617903, % A Na 8508 TPIEES & Dehode> T

Conversion of X to Y 1s Friedel-Crafts reaction

5 E
28393617904, ¢ <> Y T SrO6 (BS-(57p &5

Question Number : 157 Question Id : 2839364477 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When benzene is treated with carbon monoxide and hydrogen chloride in the presence

of anhydrous aluminium chloride it gives a compound X and the reaction is called Y.

X and Y are

BOES D 5°8)S IrBIE HOAD FEBS T6 & ey eweriaddado SB&H

DNE 0 585 230D BB He01d0 X B 585 Y eond X, Y en
Options :



Benzaldehyde, Gatterman reaction
28393617905, & SOFQ TG, e S I8¢

Benzoic acid, Rosenmund reaction
28393617906, % ZOE 008 &0, B2S Ho& s

Benzaldehydg. Stephen reaction
28393617907, & SOTVTE, JDS 8¢

Benzaldehyde, Gatterman-Koch reaction
18393617908, ¢ JOTV &, s Q-85 W98

Question Number : 158 Question Id : 2839364478 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the acid formed when methyl magnesium bromide reacts with CO> followed

by hydrolysis?

DFS DAYNADO (B DE & CO: & 585 20D e3650° 568 20 DA BN ODOT
€300 &7

Options :

Methanoic acid
28393617909, % DAS'OWE &0

Ethanoic acid
28393617910, ¢ AP 008 &0

Propanoic acid
28393617911, % PO 00T esho

Butanoic acid
18303617912, % 205ESONS @O

Question Number : 159 Question Id : 2839364479 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct order of basic strength of amines in case of methyl substituted amines in

aqueous solution is

BOITSIRD0S DFO (DBT DS oS © 578 ered DB |ED0o
Options :



12393617913, ¢ (CH3)2NH > CH3NH:> > (CH3):N > NH;
28393617914, % (CH3)2NH > CH3NH>> NH3 > (CH3):N
18393617915, % (CH3)sN > (CH;3):NH > CH3NH:> > NH3

18393617916, 8 CH3NH2> (CH3)NH > (CH3):N > NH3

Question Number : 160 Question Id : 2839364480 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Benzene diazonium chloride on reaction with compound X in the presence of acid

forms a yellow colour dye. What is the compound X?

BoES HONEV0H EBE 0 X @989 I302FI0S €360 D06 585 2380 DY)

S0t SQ 19550 BB, DTV X 28?
Options :

Phenol
28393617917, ¢ PT°O

Aniline
28393617918, # QE®

Naphthol
28393617919, & 'O

Benzaldehyde
28393617920, % B0 Q G



